
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser med potens på ti (manglende tall)

5, 901 × ________ = 59.01 1, 303 × ________ = 1303

9, 927 × ________ = 99.27 10, 476 × ________ = 10476

8, 386 × ________ = 83.86 4, 603 × ________ = 460.3

6, 142 × ________ = 614.2 3, 953 × ________ = 39.53

4, 852 × ________ = 48.52 2, 499 × ________ = 24.99

3, 994 × ________ = 3994 3, 456 × ________ = 3456

4, 416 × ________ = 4416 10, 597 × ________ = 1059.7

6, 15 × ________ = 6150 8, 473 × ________ = 847.3

7, 584 × ________ = 7584 5, 513 × ________ = 5513

6, 327 × ________ = 632.7 10, 882 × ________ = 108.82
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser med potens på ti (manglende tall)

5, 901 × 10 = 59.01 1, 303 × 1000 = 1303

9, 927 × 10 = 99.27 10, 476 × 1000 = 10476

8, 386 × 10 = 83.86 4, 603 × 100 = 460.3

6, 142 × 100 = 614.2 3, 953 × 10 = 39.53

4, 852 × 10 = 48.52 2, 499 × 10 = 24.99

3, 994 × 1000 = 3994 3, 456 × 1000 = 3456

4, 416 × 1000 = 4416 10, 597 × 100 = 1059.7

6, 15 × 1000 = 6150 8, 473 × 100 = 847.3

7, 584 × 1000 = 7584 5, 513 × 1000 = 5513

6, 327 × 100 = 632.7 10, 882 × 10 = 108.82
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